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16102618, 006 hourwf%ecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102700, 012 hour forecast for 45Kft Knapp_Ellrod Tl and winds (knots) -- NCEP GFS
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16102706, 018 hour fo[gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS 6o
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16102712, 024 hourwf%ecast for 45Kt an%p_Ellrod Tl and winds (knots) -- NCEP GFS 6o
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16102718, 030 hour fo[gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102800, 036 hour f%ecast for 45Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102806, 042 hour fo[gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102812, 048 hour forecast for 45Kft Knapp_Ellrod Tl and wmds (knots) -- NCEP GFS
120 140 80, o < 460

RS 4 Ab_u._m_uuu._mm_u_um“‘( X Y Y‘%%
kkkgg <<TFTK<%%%L

% v ‘“"l\
2 L Do I \/\> ..... /ﬂ? ..... /}/{ ....... K'\_V ............

* /rf/«rnr AT AT
AN

//\/j /L\/Qﬁ\/\b\l\u_m_LLL

; /‘/\\/\y “—u/ u/L“—“UlL
NS k&.ﬂ‘\ﬂg ﬁ\/ _____ }5/\/
_ bL%%%%?\LKVJJJV

\Q\‘kﬁ\ﬁl QKV ;\y wwmgkkk&%mw\y\y\\yy

[7~2O
E
F
F
BN
F
F
3
n3
<
X
e
L &9
E
£
£
F
[&
/P
f:
r
[
XK
<
<

120 140 160 180 —160

Turb value =7



16102818, 054 hour fo[gecast for 45Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102900, 060 hour fo{gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102906, 066 hour f%ecast for 45Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS o
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16102912, 072 hour forecast for 45Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16102918, 078 hour fo[gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16103000, 084 hour fo{gecast for 45Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16103006, 090 hour fo{gecast for 45Kft Knapp Ellrod Tl and wmds (knots) -- NCEP GFS .
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16103012, 096 hourwf%ecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP (g;oFS .
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16103018, 102 hour fo[gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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16103100, 108 hourwf%ecast for 45Kt Knapp Ellrod Tl and winds (knots) -- NCEP GFS
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16103106, 114 hour fo[gecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GOFS
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16103112, 120 hour f%ecast for 45Kt Knapp Ellrod Tl and wmds (knots) -- NCEP GFS
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